



Exported on 12/09/2018

**Date Selected:** 12/09/2018

Group(s): Teagasc Heavy Soils Programme

Farm	Cover Date	Farm Cover (kg DM/ha)	Cover/L U (kg DM/LU)	Stocking Rate (LU/ha)	Growth/ha (kg DM /ha/day)	Demand/ha (kg DM /ha/day)	Rotation Length Now(day s)	Grass Allocati on / LU (kg	Grass Intake/Co w (kg DM/cow)	Meal Intake (kg/cow )
Doonbeg	10/09/2018	988	373	2.65	60	43	26	16.4	16.7	3.3
Lisselton	11/09/2018	425	101	4.21	83	55	25	13.0	13.0	4.0
Athea	10/09/2018	779	296	2.63	54	39	30	15.0	15.0	2.0
Castleisland	09/09/2018	898	352	2.55	60	36	25	14.0	14.0	3.0
Kiskeam	07/09/2018	839	354	2.37	58	35	28	15.0	15.0	2.0

Average	786	295	2.83	63	41	27	14.7	14.7	3.1

#### Milk Summary:

Farm	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Ballinagree	11/09	19.29	4.03	3.73	1.54
Doonbeg	10/09	19.4	4.61	3.78	1.68
Athea	08/09	18.41	4.54	3.79	1.58

**Disclaimer** This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





Exported on 12/09/2018

Date Selected:	12/09/2018 Teagasc H		Programm	٩	
Group(s):	-	·	i logialilli	<u>-</u>	
Castleisland	09/09	19.92	4.4	3.71	1.66
Kiskeam	10/09	16.48	4.62	3.94	1.45
Average	11	18.7	4.44	3.79	1.58

**Disclaimer** This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





**Date Selected:** 12/09/2018

Group(s): Teagasc Heavy Soils Programme

### Milk Summary:

Farm	Cover Date	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow	SCC
Ballinagree	10/09/2018	11/09	19.29	4.03	3.73	1.54	
Doonbeg	10/09/2018	10/09	19.4	4.61	3.78	1.68	
Athea	10/09/2018	08/09	18.41	4.54	3.79	1.58	127
Castleisland	09/09/2018	09/09	19.92	4.4	3.71	1.66	203
Kiskeam	07/09/2018	10/09	16.48	4.62	3.94	1.45	
Average			18.7	4.44	3.79	1.58	165



Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory

requirements. Teaga





**Date Selected:** 12/09/2018

Group(s): Teagasc Heavy Soils Programme

### **Fertiliser Summary:**

Farm	Cover Date	Last Fertiliser Date	kg of N/ha	N Area%
Con Lehane	10/09/2018			
Danny Bermingham -	10/09/2018	11/09	25	65
Donal and Michael Keane	11/09/2018			
John Leahy	10/09/2018	11/09	22	75
John O'Sullivan	09/09/2018	06/09	47	47
Sean O'Riordan	07/09/2018	11/09	54	60
Average			37	61.75

**Disclaimer** This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga



Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory

requirements. Teaga